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QUESTION 1

You need to locate the position of the oldest unprocessed transaction by using the command INFO EXTRACT
SHOWCH.How should you proceed?

A. Use the Read Startup Checkpoint.
B. Use the Read Recovery Checkpoint.
C. Use the Write Startup Checkpoint.
D. Use the Read Current Checkpoint.
Correct Answer: B

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWUAD/ wu_ogg_checkpts.htm#GWUAD968

QUESTION 2

You have a source table with a PRODUCT _ID column and a target table with PRODUCT_DESCRIPTION
column. On the target database, there is a lookup table containing product codes and corresponding
descriptions.

What should you use to look up the PRODUCT_DESCRIPTION for each transaction?

A. SQLEXEC ()

B. DBLOOKUP ()

C. DBLOGIN ()

D. SQLLOOKUP ()

Correct Answer: A

QUESTION 3

Which GLOBALS parameter is required to initially enable monitoring?
A. JAGENTMONITORING

B. ENABLEMONITORING

C. ENABLEOEMMONITORING

D. CHECKMONITORING
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Correct Answer: B

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWURF/ gg_parameters053.htm#GWURF474

QUESTION 4

Veridata has completed the initial comparison and you want to view the rows that appear to be out-of-sync. How can
you do this?

A. View the maybe out-of-sync (MOOS) queue.
B. View the Veridata log file.

C. View the confirm-out-of-sync (COOS) queue.
D. View the Veridata Agent repository.

Correct Answer: A

Reference: https://docs.oracle.com/goldengate/v1221/gg-veridata/GVDUG/get_started.htm#GVDUG107

QUESTION 5

You are experiencing an issue with the downstream database server for the Integrated Capture Downstream Model.
Which step should you take to resolve the issue?

A. Ensure that the Oracle database version on the downstream database server is the same version as the source
Oracle version.

B. Ensure that the platform type of the downstream database server is the same platform as the source database
server.

C. Ensure that the GoldenGate version used on the downstream database server is the same version used on the
source database server.

D. Ensure that the GoldenGate version used on the downstream database server is the same version used on the target
database server.

Correct Answer: B

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GIORA/ic_deploy.htm#GIORA472

Latest 170-447 Dumps 170-447 Practice Test 170-447 Study Guide

Latest 120-447 Dumps | 120-447 Practice Test | 1Z0-447 Study Guide 3/3


https://www.pass2lead.com/1z0-447.html
https://www.pass2lead.com/1z0-447.html
https://www.pass2lead.com/1z0-447.html
http://www.tcpdf.org
https://www.pass2lead.com/1z0-447.html
https://www.pass2lead.com/1z0-447.html
https://www.pass2lead.com/1z0-447.html

